Opnyynax ynngan

LLInH33p rapcaH MOHron oo OUCBIH Nporpama raHy YRnasn ayTyy XUAroxasa. OH3 Hb Y uiar
Xal>x 01004 eep Yrasp opnyynax yinngan oM. Nismag sH3 anpaar 3acax nporpambir 6M4H3 Y.

Input

OponTbiH axHWIA MepeHa 100-aac uny yryu yptran, naTuH uaraaH TONrOMH XUXWr YCryyq
6010H XOOCOH 3aiiHaac 6y TCaH TekcT erergeHe. apaaruiiH mep 6ypT MeH N naTtuH uaraax
TONMOMH XMXUr YCIYYA33C TOrTOX XOC YT 3anraap TycraapnariaH erer 1eHe. OXHUM Y rumr
TEKCTI3C ON1X yCTraan OpoHA Hb X0Ep Aaxb Yruir 6mumx xapartai. Opnyynryynbir erer 4CeH
napaannaap X1MinHa. AHXHbI TEKCT3A YTY YOUIAr raHL XOOCOH 3airaap TycraapnacaH b6aiHa.

Output

CapanT A33p xyBuprarncaH TEKCTUIAr rapraHa. Yry 'y XOOpoHA00 raHL XO0COH 3aliraap
TycraapnaracaH 6aiix éctoi.

Example

Input:

the quick brown fox jumps over the lazy dog
brown red

lazy black

the a

Output:
a quick red fox jumps over a black dog

Input:

adam is a man eva is a woman
man woman

woman man

Output:
adam is a man eva is a man
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